MA 16010 Exam 1/Form 01 Fall 2014

Student’s Name:

Student’s ID Number:

Instructions:

1. Do NOT turn the page until told to do so.

2. Fill in your name and student ID in the space provided above.

3. On the scantron, fill in your name, section number, student ID. For the test/quiz
number, put down 01 for green exam and 02 for orange exam. Sign your name.

4. There are 12 problems and a total of 7 pages. The maximum possible score for this exam
is 100, and each problem is worth the same points.

5. You can use the available space below a question or at the back of each page for your work.
Turn in ONLY the scantron when you leave. Note: you will be graded ONLY based
on your scantron answer sheet.

6. Only a one-line display scientific calculator is allowed. NO other electronic devices are
allowed. No books or notes are allowed.

7. You will have 60 minutes to complete the exam.

8. Keep your eyes on your own exam please. Try to cover your scantron answers.

9. Good luck!
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3:30pm M. Ochoa 0113 4:30pm M. Ochoa 0114
4:30pm T. Terrell 0102 4:30pm A. Schneider 0095
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1. Which of the following functions has an amplitude of 2 and a period of 47

A. y=2cos(%)
.y = 2sin(4x)

B

C. y =4cos(2x)
D. y = 2sin(87x)
E

.y = 4cos(%)

™

2. Find the domain of:

f@) = 5
A. (—00,0)U(0,00)
B. (0,In3) U (In3, c0)
C. (—00,In3) U (In3, c0)
D. (—=00,0) U (0,In3) U (In3, c0)
E. (0,00)
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3. Solve for 6 (0 <0 < 27):
sin?(26) — sin(26) = 2

A. 9:%,9:%,9:%
B 9:%,9:%,9:%
C. 9:%,9:%,9:%
o=t T
E.@:g,ez%ﬂ

4. Choose the correct statement(s) regarding f(z).

ry=re

I. f(z) is discontinuous at x = 1, z = 2 and = = 4.
II. lim f(z) =2
T—2

III. lim f(z) does not exist.
T—4

IV. lim f(x) =2

r—1

I only

IV only

I and IT only

I and IV only
IT and IIT only

= aw >
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z—1
5. Given f(x) = , and g(x) = ———, which of the following statements is false?
x+1 22 -1
g(z) has a removable discontinuity at x = 1
f(x) has a non-removable discontinuity at x = —1

)

(x)

g(x) has a vertical asymptote at x = 1
)
)

f(z) has a vertical asymptote at z = —1

= O aw >

g(x) has a non-removable discontinuity at z = —1

6. If lim f(x) = —6 and lim g(x) = 4, find
r—cC Tr—cC

lim [f*(2) + 2g()]

r—C

44

32
—28

= O aw»
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7. Given the piecewise function:

T+ 4 ifx <=2
flz)=¢ —z—2 if-2<2x<2
r—2 ifx>2

Which of the following statements is false?

A, lim f(x)=2
T——2"

li =0
A )

lim f(z) =-2

z—0~
lim f(z) = -2
T—27

lim f(z)=0

z—21

= U a ©

8. Which of following does NOT equal to positive infinity (+00)?

4
A. lim oT ;_
r—0~ xT
3
B.
a:igl'*‘ r—3
C. lim z+38
=2+ 2 —x
2
D. lim ——
z—4— /16 — 12
. 1
E. lim
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9. Find the limit:
. —4xr + 4
lim

x—>1$2—4$+3

= O QW
Owihed — O

10. Assuming that a, b, and ¢ are positive quantities, which one of the following expressions

b
is not equal to In <a> ?
c

Ina+2Invb—31n e
In(a?b?) — In(abc)

1
glna3 + %lnb2 —Inc
Inb? + In (%) +Inc2
In(2a) + In(20) —41lnc

= O a W



11. Consider the function f(x) =
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T When using the definition of derivative (the limit

process) to compute f’(x), we would need to find the following limit:

20 —
—2
A i
h0 (22 + 20 — 1) (22 — 1)
h—1
B. li
h0 (22 + h— 1)(22 — 1)
-1
C. li
o0 (22 + h— 1)(2z — 1)
D. lim h
h—0 (2z +2h — 1)(22 — 1)
—h
E.

2 -9

12. Given f(z) = — and f'(x

.
o0 (22 + h — 1) (22 + 2h — 1)

z2+9
5

)=

X

Find the equation of the tangent line to the graph of f(z) at z = —1.

A y=8zx+18
B.y=8x-2

C.y=8x—18
D. y=10x -2
E. y =10z + 18



